H & 0l & AHS B Ml A

20238 20ilaF et M
SN BAAYA
A NG BAXLH(BZ/HOIS)
el 2F0lst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAE A 18,310,149 16,992,465 2,317,684
= 363,000
[ 604,340
= 214,960
Al 17,127,849
WA SAXH(S3/HIIS) 14,258,722 12,028,847 2,229,875
= 363,000
[ 604,340
= 214,960
Al 13,076,422
013t 6,000,497 4,266,860 1,733,637
= 10,000
[ 33,658
Al 5,956,839
AEH| 2l 1,017,500 567,500 450,000
201 er2 3| 347,500 347,500 0
01 At2t2lt] 15,000 15,000 0
oget=ZH| 15,000,000& 15,000
02 S3=4gHl 332,500 332,500 0
O0ssR= € MA 10,000,000& 10,000
OAEEHl =X 5,000,000& 5,000
OFAXg AHHEX FH
67,500,000 67,500
Oxtg 7=l 250,000,000 250,000
405 KHaHF S| 670,000 150,000 520,000
01 ML ESFSHI 670,000 150,000 520,000
OFAX 2 670,000,000 670,000
MeDISEN F& 4,642,237 3,323,500 1,318,737
201 et 3| 65,000 60,500 4,500
01 At2t2l] 24,500 23,400 1,100
oget=ZH] 9,000,000 9,000
OSSN LLAE 243t
7,000,000& 7,000
o=EH| 2,000,000 2,000
O=AMXIS X dl=H &d
3,500,000 3,500
OFSESH MM =8 X3
3,000,000& 3,000
2 5234l 40,500 37,100 3,400
0ss2= € MA 7,500,000& 7,500
OZHNSE HIHAIAE KX 24|
5,000,000& 5,000
OZgNSE &1 RA2=H|
3,000,000& 3,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
=91 &A0\% (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEHIIZ ADAAE FXIZ4H|
5,000,000& 5,000
Oxtgds S XS 20,000,000 20,000
202 04| 6,000 6,000
01 2LHA b 6,000 6,000
Oz =0 6.,000,000& 6,000
203 g4l 3,000 3,000
03 A=A =] 3,000 3,000
oXgD| ZeltiEs 88 947 =4
2,000,000& 2,000
OYEHIIZ HMelAld &5 AR =8
1,000,000& 1,000
206 M=l 369,000 369,000
01 M= HI 369,000 369,000
oM SEH SF M
250,000,000 250,000
OHPIZZ0 XM= 78,000,000 78,000
OSASXdDl ERES A
8,000,000 8,000
OMEssSsHe M 23,000,000& 23,000
oHgZsS+HE M 5,000,000& 5,000
OHAEX=HE & 5,000,000& 5,000
207 ARl 55,000 35,000 20,000
01 1= 55,000 35,000 20,000
CdgHI|l= +d2E ASUY Aoty
=9 20,000,000 20,000
OdHDIZ +=&82L LN EIot 4
15,000,000 15,000
o=t g +~8 89
20,000,000& 20,000
307 gl2to| & 4,144,237 2,850,000 1,294,237
05 212t =S 4,144,237 2,850,000 1,294,237
odgHIl= +d2E AFUY SHH|
4,144,237,000& 4,144,237
MeDl S0 22 77,500 87,500 10,000
101 e124d| 45,000 0 45,000
M ORINZZ2NSE S 45,000 0 45,000
OdEHDI= FHFI| dEoH
45,000,000 45,000
201 er2 3| 12,500 12,500
01 AtR2telHl 12,500 12,500
oggt+=ZHI 10,000,000 10,000
(©f==ix] 1,000,000& 1,000
oA SYiHE =g SIS
1,500,000 1,500




SN BAAYA
A NG BAXLH(BZ/HOIS)
el 2F0lst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 20,000 75,000 55,000
01 Al&H| 20,000 75,000 /55,000
Oltx 2el==HE HA &X]
20,000,000& 20,000
ESFH 2c 54,400 52,900 1,500
201 ger=3| 54,400 52,900 1,500
01 AtR2te|H] 47,400 45,900 1,500
OZEt=EH| 10,000,000& 10,000
o=gtl 2,000,000& 2,000
OHES FYHI 2,400,000& 2,400
OFSFA U= 28,000,000& 28,000
OESFH g8 84
5,000,000& 5,000
2 S524g4l 7,000 7,000 0
0382= € HA 4,000,000 4,000
(Oul=d:] 3,000,000& 3,000
SEHHIE =H2d= 120,000 120,000 0
= 10,000
& 10,000
Al 100,000
301 EtE NS 120,000 120,000 0
= 10,000
< 10,000
Al 100,000
14 JIEt2 8= 120,000 120,000 0
SEHHIE =H24= X
120,000,000 120,000
= 10,000
== 10,000
Al 100,000
MEHI|2 2cliiE R0 AMY 38,860 38,860 0
= 11,658
Al 27,202
101 @124H| 38,860 38,860 0
= 11,658
Al 27,202
04 JIZtN2 2N S+ 38,860 38,860 0
OdEHI|IZ 2cliiE =<0l At
38,860,000& 38,860
== 11,658
Al 27,202
YA EsHII=Z =HXCl A 40,000 50,000 10,000
= 12,000
Al 28,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
el 2F0lst EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 =3 40,000 50,000 10,000
& 12,000
Al 28,000
01 At2teltl 40,000 50,000 10,000
Ogxl Esull=2 =H & el
40,000,000& 40,000
= 12,000
Al 28,000
OlOIATH THALS At 10,000 17,000 AT7,000
201 et 3| 10,000 0 10,000
01 At22t2l] 8,200 0 8,200
OOHOIAT THAIZ At 8,200,000 8,200
2 35244l 1,800 0 1,800
OOHOI AT THAFZ At 1,800,000 1,800
SAAE 2] 6,843,545 6,163,887 679,658
= 213,000
Al 6,630,545
OHEIAIE 2l 900,100 1,091,100 191,000
201 Zet=3h] 688,600 703,600 15,000
01 AtR2te|HI 33,600 33,600 0
O&FEST FEIA =B 9,600,000& 9,600
OXIots =2 BA =2 8,000,000 8,000
OUEX =8 ol =E2TA =8
8,000,000& 8,000
O2gARE 7Y 8,000,000& 8,000
02 S3=gHl 655,000 670,000 A15,000
OAIE2EbBI= X 30,000,000& 30,000
OMEHIIZ NEFES(HE)
225,000,000 225,000
OASSIMIIEZE HEHDIZ2 fIEXL
400,000,000 400,000
206 M=l 18,000 18,000
01 M=4l 18,000 18,000
OUEH 5= M ez 2
10,000,000& 10,000
olgd ggx=E 7 8,000,000& 8,000
301 LEtE N = 170,000 170,000
14 IIEt2 83 170,000 170,000
OaNilEs =2UNE 2d=
170,000,000 170,000
307 @120l & 23,500 24,500 21,000
01 22 +=H| 23,500 24,500 21,000
OHMHOI==F2 HALZBA 23,500,000& 23,500
AZTAlE 22| 3,903,960 3,692,184 211,776




SN BAAYA
A NG BAXLH(BZ/HOIS)
Sl LA 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 et | 205,000 245,000 A40,000
2 222t 205,000 245,000 240,000
0424 U 254 3,000,002 3,000
OA2AT 2BHRE S| 2,000,002 2,000
OMEBHIIZ HERYD(42)
200,000,000 200,000
207 ARl 22,000 22,000
01 HE4HI 22,000 22,000
OXZIAIE SEAY BIZE AL & JI1E2H
& 8 89 22,000,000 22,000
307 elzto| & 3,576,960 3,447,184 129,776
05 212t =S 3,576,960 3,447,184 129,776
OUZETIANEY d=ER=
20,000,000& 20,000
ORIZIETIAIY HEHDI= A2l
3,556,960,000& 3,556,960
405 AHaHE = 100,000 100,000
01 ML ESF SHI 100,000 100,000
OXE3|=HE A2 2ES WA 2
100,000,000 100,000
SHEFHIIZS XMelAld 22 757,530 714,416 43,114
201 fer= 3| 150,000 150,000 0
02 S3=gHl 150,000 150,000 0
OSA=FRHII= 25 FEXlI
30,000,000 30,000
OSAMEFHIIZ XM2AME HIIRS
120,000,000 120,000
308 AXIMSO0IA 597,530 560,296 37,234
1 SISt AS A 597,530 560,296 37,234
OSA=FHII= MelAlg 2e|th
597,530,000& 597,530
403 AXIEHHS X201 10,000 4,120 5,880
02 SO 2SS0t et = & 2 € Ari| 10,000 4,120 5,880
OSAEFHIIZ XM2lAE 22U
10,000,000 10,000
SHMUHA SSAIE 2l 10,000 18,000 28,000
201 er2 3| 10,000 18,000 28,000
01 At2teltl 5,000 3,000 2,000
OHZSSAE 28423 78
5,000,000& 5,000
02 S3=gHl 5,000 15,000 10,000
OHEE2 AE&bI=Abl
5,000,000 5,000
HESHEAL 2] 578,955 522,187 56,768
101 @124H| 347,055 255,787 91,268




2A:

I ﬂHZ.S._ BZXL(8Z/HOIS)
Chel: HAAIE 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 347,085 255,787 91,268
ONgE=S HEAE 2 347,055
o2y 240,115,000& 240,115
oFXtrd 48,023,000 48,023
oA Xt=E 9,235,000 9,235
cAUEEE 47,282,000 47,282
oZ2ZAt II=Hl S 2,400,000& 2,400
201 er23| 101,900 116,400 14,500
01 AtR2t2|HI 16,400 11,400 5,000
O2gA2R2E 7Y 14,000,000 14,000
oxJItEZe] U2
2,400,000 2,400
02 S5=2g4l 85,500 105,000 19,500
0332 € AMEFHISAHI
60,000,000& 60,000
oNgEsHEd ESEER FIEXcII
25,500,000% 25,500
401 AIEHIZ SR 0HYI 30,000 150,000 120,000
01 Al&HI 30,000 150,000 A120,000
ONESHEY 2SS HNUSE HLSA
30,000,000& 30,000
405 AHatE = 100,000 100,000
01 MMM ESFSHI 100,000 100,000
ONSHER M= 2HEH wH 2
100,000,000 100,000
Mass SEME NSAE 26,000 26,000 0
= 13,000
Al 13,000
101 e124d| 26,000 26,000 0
= 13,000
Al 13,000
M ORIMZZ2NSE S 26,000 26,000 0
oNEEss SEME XA
26,000,000& 26,000
= 13,000
Al 13,000
ASRIUINEE SHEAI (2-3EH) 667,000 100,000 567,000
= 200,000
Al 467,000
401 AIEHIZ SR 0HYI 667,000 100,000 567,000
= 200,000
Al 467,000
01 Al&H| 662,000 100,000 562,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
Chel: HAAIE 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OASSIMINRIE A (2-3EHH)
662,000,000 662,000
= 198,500
Al 463,500
03 AIESTHYI 5,000 0 5,000
OMSIMINE SR (2-3EH)
5,000,000 5,000
= 1,500
Al 3,500
HolE A=t 1,414,680 1,598,100 183,420
= 140,000
[ 604,340
= 181,302
Al 489,038
ot ot MLD] A 200,000 200,000 0
= 140,000
Al 60,000
101 ©1AH| 150,000 150,000 0
= 105,000
Al 45,000
M ORINZZ2NSE S 150,000 150,000 0
OBt 57 £RMYI| Hel
150,000,000 150,000
= 105,000
Al 45,000
201 er=23y| 49,000 49,000 0
= 34,300
Al 14,700
01 AtR2t2|HI 2,000 2,000 0
Ootd ot FRA4dDI| Hel
2,000,000 2,000
= 1,400
Al 600
2 5234l 47,000 47,000 0
Odtd ot FR&AI] Xl
47,000,000 47,000
= 32,900
Al 14,100
202 04| 1,000 1,000 0
= 700
Al 300
01 SLHoIH 1,000 1,000 0
Ootd ot HstAtd & EH0iI
1,000,000& 1,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
ol HolE HEEt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700
Al 300
HOISXHE 2t 6.000 6.000
201 er2 3| 6,000 6.000
01 AtR2te|Hl 3,000 3,000
Odgt+=H| 2,000,000& 2,000
OYXEHIIZ =H &Hl SXE
1,000,000& 1,000
® Z=2H| 3,000 3,000 0
OHII2Hz2 HEXY HHISK
1,000,000 1,000
OHJI=Xel St =&
2,000,000 2,000
SdIOIEXM XA 1,208,680 1,392,100 183,420
[ 604,340
= 181,302
Al 423,038
402 2IZtA=01d 1,208,680 1,392,100 183,420
[ 604,340
= 181,302
Al 423,038
03 2IZ+RAETAIS I 1,208,680 1,392,100 183,420
O =dI0I1E EA 876,480,000 876,480
= 438,240
< 131,472
Al 306,768
OHI=8 =dI0IE EA 81,000,000& 81,000
= 40,500
< 12,150
Al 28,350
O XSHe 251,200,000& 251,200
= 125,600
[ 37,680
Al 87,920
HH2SZHI(EB AL ) (OIEHIIE 4,061,427 3,963,618 87,809
el 2| 3,992,467 3,888,138 104,329
el E2d| 3,992,467 3,888,138 104,329
101 21AH| 3,645,324 3,576,807 68,517
01 2= 61,351 60,187 1,164
Ooxl=22=+¢ 61,351
obs 12,3213 %4 *30A1 2t 122 17,743
org 11, 1303 x4 +30A1 2+ 123 16,028
=85 9,992 x4 H*30Al 2+ 123 14,389




SN BEAL
A HYRIZHI(BIMZ ) (OIE/IIE
el o2l (9l @)
M- B SRASH) - HRAR - B2 of v e HIDE2
Sa= 9, 16023 x4 +30A| 2+ 123 13,191
02 JIEHE & 3,99 3,9 0
CENELH ¢%+(fg%%a§)
11,0022« 1 x30A1 2+ 122 3,994
03 SRA(RIH)22 X 3,579,979 3,512,626 67,353
O33R (539) 3,579,979
=JllEa 144,745,000« 12& 1,736,940
ollEgdasE 868,470,000& *12& 2% 208,433
odIsd 144,745,000 x22 *50f% 144,745
ofgag 60,0002 « 122 «53H 38,160
oSxUI2E 90,0003 x 122 x53& 57,240
oMU AE 105,000& x 122 «53& 66,780
cJtEg 62,328
— B At 40,0002 * 122 *532 *95% 24,168
&5 20,0003 x 122 x53H »7(% 8,904
—bI= 40,0003 x 12«53 *115% 29,256
coRRI RIS
135,000 x53 18 128,790
ogdIRsY 210,000 +53E» 10 111,300
oAe2RE
26,0002 #1220 +x30S *15A1 2+ 140,400
oM et 144,745,000 +5& *50% 361,863
oHEJIH
144,745,000 x12& *16. 6%+60% 173,000
S 350,000,000 360,000
WM HsEE=S 347,143 311,331 35,812
01 g=RE= 140,136 137,388 2,748
O=gg=z JIARE=
3,114,125,000& *4. 5% 140,136
2 =tAddEE8= 122,923 120,513 2,410
OHZ=EE JIARE=
3,114,125,000& *3.495% 108,839
OFIIRLEE JIARES
108,839,000 *12.94% 14,084
4 BRA(RIHA)22N BEERES S 84,084 53,430 30,654
OUNEEE JAIFHS (AR A4HS0d)
3,114,125,000& 0. %% 28,028
OLNEEE I ARYS(AIEA NHAS)
3,114,125,0002 *0.85% 26,471
OuttATHEE = JI2AFES
3,114,125,000& %0.95% 29,585
=3l 58,960 75,480 216,520
Jl=3H] 58,960 75,480 16,520
201 er23 | 8,000 8,000 0
01 At2teltl 8,000 8,000 0
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7,000
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8,000
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7,760
2,760
2,760
5,000
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KJ
KF
ok
ol

40,0003 69

5,000,000&
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